
02 March 2007 Friday Race Result İzmir Racecourse (26th Day)

44th Race  Starts At:15:30 Handicap 15/DHÖW kg, 1400 Turf

Prize 1.) 17.500 t 2.) 7.000 t 3.) 3.500 t 4.) 1.750 t
Breeders Premium 1.) 1.750 t 2.) 700 t 3.) 350 t 4.) 175 t

Silk Result Horse Name Age Sire Dam Weight Jockey Owner Trainer Time Win PSF St Margin Late Start RT

1 ARBATUR(1) 4yo ch h HALİD - GÜLBATUR 62 M.KAYA ÜMİ. ÖZÇAKA V.ALTINKURT 1.33.94 3,60 13 1,5 Lengths 74

2 KORKUT SULTAN(4) 4yo chm EMİROĞLU - ÇAYIRHİSAR 57 H.KARATAŞ ARİ. KORKUT M.A.SAVAŞERİ 1.34.17 1,75 11 2 ½ Lenth 64

3 ERYÖRÜK(8) 4yo gr h BAMKA.3 - ZAFİRE.17 53,5 G.OKER HÜS. TÜRKARSLAN B.ONARIR 1.34.55 6,70 6 2 ½ Lenth 57

4 GÜNAL(6) 4yo chm HABERBATUR - ARZUMCAN 55,5 S.BOYRAZ ÜMİ. GÜNAL H.ÇALIŞKAN 1.34.90 6,65 3 61

5 ARAKARYA(5) 4yo chm HABERBATUR - FİGO 56 K.TOKAÇOĞLU MER. UYAL A.GÜMÜŞ 1.34.95 17,40 10 62

5 MAHMUDİYELİCAN(9) 4yo gr h SANCAKBEYİ - LATİFEGÜL 53,5 M.GÜNDÜZELİ MUZ. CAN M.CAN 1.34.95 9,15 16 57

7 BOZOĞLU(3) 4yo gr h HABERBATUR - AYANCIKLI 58,5 Y.AKAĞAÇ SİN. ÖZGEN K.KAYALIK 1.35.19 4,05 7 67

8 NAZLIŞAH(7) 4yo grm CAŞ - ŞAHİDE.45 54 İ.H.KETME H. TAR. DİKENCİK M.TUNÇ 1.35.52 6,40 9 58

9 KANIK(13) 4yo grm BAMKA.3 - SIRMA 50 Ü.D.ALTEKİN İSM. HADİOĞLU A.R.AYDIN 1.36.00 18,90 8 39

10 BERİL(10) 4yo chm CAŞ - ALMİMRUHİYE.16 52,5 T.ÇUBUKÇU SEL. DİKENCİK M.TUNÇ 1.36.35 6,40 12 55

11 CİYAD(11) 4yo gr h HABERBATUR - ALYEL 52,5 G.YILDIZ FİK. KAYA F.GÖNÜLTAŞ 1.36.73 6,45 14 55

12 AĞARİŞVAN(2) 4yo ch h RİKARDO - ÜLFET 59,5 N.ŞEN MEH. ÖĞÜT* O.M.ÇELİKKOL 1.36.85 10,20 4 69

13 BEDİRBEY(14) 4yo b h DRUID (PL) - SEYYARE.63 50 İ.SOYAD NEC. DEMİRKOL E.ATEŞ 1.37.21 22,50 1 37

14 GELİNKIZIM(16) 4yo grm NOKTABATUR - GELİNKIZ 50 F.AVCI İSM. ÖZBEK M.Y.AKKEYİK 1.38.57 32,50 2 30

15 AYŞENUR(12) 4yo grm SIH TAHA - HANDENUR 48 GÖKH.GÖKÇE FAT. KÜÇÜKER B.DÜZYATAN 1.38.63 15,95 15 41

16 ALSEM(15) 4yo gr h HABERBATUR - ZİŞAN.1 50 R.TAŞDELEN A. C ROİDİ Z.ÜNER 1.39.81 13,95 5 32

Quinella(1/4) :4,30 t, Exacta(1/4) :8,25 t, Superfecta(1/4/8/6) :15,62 t, Quartet(1/4/8/6) :0,54 t, 1st Double(1/1) :7,15 t


